10 9 8 7 6 5 4 3 2 1

M12 4 POLE AC MALE 4POLE SHOWN
L+Tol. (SEE PART LIST)

>
218 4POLE SHOWN

et -
(100) 4 )
19.8 - N - 6 ~
- o« \/
PIN 3 BLUE PIN 2 WHITE - ~ 7
P \/

> A
S 3 ) 7
Hisi=S=———RH ()
= NN NN
5 Y Lx\/
PIN 1 BROWN 3-19 ~ A/E :7
PIN 4 BLACK 4 2 3 1 -« AP0

M12 5 POLE AC MALE M12 8 POLE AC MALE M12 12 POLE AC MALE

PIN 3 BLUE AL PIN 2 WHITE PIN 3 GREEN AL PIN 2 BROWN PIN 2 BROWN AL/ PIN 10 VIOLET

PIN 3 GREEN

>
o: PIN 4 YELLOW
PIN 11 GREY/PINK

R e & %)/
N 1 WhITE PIN 5 GREY 2 K /) PIN 1 WHITE

PIN 6 PINK

PIN 7 BLUE PIN 7 BLUE PIN 9 BLACK

PIN 4 YELLOW

PIN 1 BROWN PIN 5 GREY

LEADING PIN 5
GREEN/YELLOW PIN 8 RED

PIN 6 PINK PIN 12 RED/BLUE PIN 8 RED

M12 4 POLE DC MALE

/\L/ RECOMMENDED s,
o
PIN 3 ORANGE PIN 2 WHITE PANEL CUT OUT$
W0
FUNCTIONAL| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
’.\ %_\ SYMBOLS |DIMENSIONUNITS|  SCALE (TZ/E\J‘;{EENT REV DESC: CHANGED MIN. TEMP. IN
- ° - of_mm | 21 molex
‘§ W GENERAL TOLERANCES
/é ‘?‘"JA W: 0| uNess sPeciFiED)
BN ( “ 13.80 20 . 1oe REC U12 XP XC MA PVC XM M16 BM WIR SE
. ‘v“v I . 02 W ANGULARTOL # 1.0 EC NO: 736602
) : - : BRA AU
k Ziv/ 0 [apiaces |- DRWN: RSCHIEBER 2023/01/30
5/’ VISt 3 PLACES |t CHK'D: RSILLER 2023/01/31
—— ' 2 PLACES . 005 APPR: RSILLER 2023/01/31 PRODUCT CUSTOMER DRAWING
T PLACE ; 03 |N|T|AL REVISION DOCUMENT NUMBER DOC TYPE|DOC PART|REVISION
™ |DRWN: JELIZAINCIN 2021/09/08
PIN 4 BLUE PIN 1 YELLOW MAX. R 1.0 (4x) OPLACES |+ 05 |APPR: RSILLER 2022/07/14 1204040046 PSD| 000 | A2
D R E FT AN G L E ‘1 . DRAFT,;{JHSE_I_R:EA’\;:HCABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS| P1 | RELEASE DATE | 2023/01/31  08:21:41 | WITHIN DIVENSIONS @ £ |A3-SIZE| 120404 | SEE PART LIST | GENERAL MARKET | 10F 3

RRRRR



10 9 8 7 6 5 4 3 2 1
POLES 4 POLE 5 POLE 8 POLE 12 POLE 4 POLE
VOLTAGE RATING 250V 60V 30V 30V 250V
CODING A - Code A - Code A - Code A - Code D - Code
AMPERE RATING 4A 4A 2A 1.5A 4A
PROTECTION CLASS
CONNECTOR INTERFACE IP 67/69K (in mated condition / when properly installed)
AND SHELL TO ENCLOSURE
OPERATING TEMP. -40°C / +90°C
UL/CSA CERTIFICATION CSA FILE NO. LR6837, C'CSA'US MARK Pending
WIRE LEAD 0.34 mm? PVC [0.34/0.5 mm? PVC|0.25 mm? PVC | 0.14 mm? PVC | 0.34 mm? PVC
PIN DIAMETER 1.0 mm 1.0 mm 0.8 mm 0.6 mm 1.0 mm
PART LIST 4P AC
MOLEX P/N | ENGINEERING NUMBER | DESCRIPTION L [mm] | TOL. [mm] 1. PARTS ACC. TO PRODUCT SPECIFICATION 1204000001 PS P10 AND
1204040046 | YR4U46E03C300 REC U12 4P AC MA PVC 0.3M M16 BM WIR BRA|300 | +40 IN STYLE OF IEC-61076-2-010
1204040050 | YR4U46E03C500 REC U12 4P AC MA PVC 0.5M M16 BM WIR BRA | 500 | +40 2. BOM: SEE SHEET 3
3. FOR THE ELECTRICAL RATINGS:
PART LIST 5P AC DERATING HAS TO BE CONSIDERED
MOLEX P/N | ENGINEERING NUMBER [ DESCRIPTION L [mm]| TOL. [mm] SSD/EI_RG/'S(ISLASIEEGCI;AI\ETEES)OSIIL\? N MATED AND LOCKED CONDITION
1204040047 | YR5U46E03C300 REC U12 5P AC MA PVC 0.3M M16 BM WIR BRA|300 | +40 4 MECHANICAL OPERATIONS: 100 CYCLES
1204040051 | YR5U46E03C500 REC U12 5P AC MA PVC 0.5M M16 BM WIR BRA|500 | +40 & MATES WITH M12 FEMALE CORDSETS
6. LABEL PRINTED WITH THE MOLEX AND ENGINEERING NUMBERS,
PART LIST 8P AC VOLTS AND AMPERES, PRODUCTION DATE AND PRODUCTION
MOLEX P/N | ENGINEERING NUMBER | DESCRIPTION L [mm]| TOL. [mm] ORDER NUMBER, UL/CSA MARKINGS AND COUNTRY OF ORIGIN
1204040048 | YR8U46E02C300 REC U12 8P AC MA PVC 0.3M M16 BM WIR BRA|300 | +40 LABEL APPLIED ON WHITE WIRE
1204040052 | YR8U46E02C500 REC U12 8P AC MA PVC 0.5M M16 BM WIR BRA|500 | +40 7. PACKAGING: SINGLE PACKED IN BAG AND THE BAGS IN
MOLEX STANDARD CARTONS
PART LIST 12P AC 8. PANEL THICKNESS MAX. 6.2 mm.
MOLEX P/N | ENGINEERING NUMBER | DESCRIPTION L [mm] | TOL. [mm] 9. RECOMMENDED PANEL CUTOUT: SEE PICTURE IN SHEET 1
1204040049 | YRCU46E01C300 REC U12 12P AC MA PVC 0.3M M16BM WIR BRA [300 | +40 FUNcTONATTHS ERAVING CONTANS NFGRWATION AT ' PROPRIETARY T OLEXELECTRONC TECHNOLOGES, LG AYD SHOULD NOT BE USED WITHOUT WRITTENPERWSSION
1204040053 | YRCU46E01C500 REC U12 12P AC MA PVC 0.5M M16BM WIR BRA[500 [ +40 /- of_mm | 2:1 |" molex
W: 0 ANG(BT::szSPtECIFE? REC U12 XP XC MA PVC XM M16 BM WIR SE
PART LIST 4P DC W: 0 [4praces Eﬁxﬁ IZ{?’SGCG&ZEBER 2023/01/30 BRAAY
MOLEX P/N | ENGINEERING NUMBER | DESCRIPTION L [mm]| TOL. [mm] Seols [Pt R e 202310113 PRODUCT CUSTOMER DRAWING
1204063007 | ERYA2U46E03C300 REC U12 4P DC MA PVC 0.3M M16 BM WIR BRA| 300 | +40 Trace |- oo |pareb REVSOMN 01106108 120 4040046 PSD 000 A2
0 PLACES t 05 [APPR: RSILLER 2022/07/14
1204063008 | ERYA2U46E03C500 REC U12 4P DC MA PVC 0.5M M16 BM WIR BRA|500 | +40 T s B i
DOCUMENT STATUS| P1 | RELEASE DATE | 2023/01/31  08:21:41 | A @ 1 |A3-SIZE | 120404 | SEE PART LIST | GENERAL MARKET | 2 OF 3
9 8 7 6 5 4 3 2 1




10 9 8 7 5 4 3 2 1
TABLE 1 - 4P A-CODE TABLE 4 - 12P A-CODE
ITEM| QTY | DESCRIPTION MATERIAL | FINISH/COLOR ITEM|QTY | DESCRIPTION MATERIAL | FINISH/COLOR
F 1 1 SHELL M16/M12MA BRASS BM L20/W17 REC U12 BRASS Ni 1 1 SHELL M16/M12MA BRASS BM L20/W17 REC U12 BRASS Ni
2 1 NUT M16X1.5 BRASS NI HEX 2 1 NUT M16X1.5 BRASS NI HEX
3 1 GASKET OR NBR BK NBR BLACK 3 1 GASKET OR NBR BK NBR BLACK
4 1 MIC 4P REC INSERT A-CODE PA SHORT PA BLACK 4 1 MIC 12P REC INSERT MALE PA SHORT PA BLACK
5 4 CONTACT 10 MA Cu ALLOY Au 5 12 | CONTACT 06 MA BRASS Au
6 1 LABEL;SELF L.YELLOW(2.25X.75IN) VINYL YELLOW 6 1 LABEL;SELF L.YELLOW(2.25X.75IN) VINYL YELLOW
7 - POTTING MATERIAL PUR BEIGE 7 - POTTING MATERIAL PUR BEIGE
8 1 WIRE;22AWG;BU;1.58;PVC;17x0.16;UL1569 BLUE 8 1 WIRE;26AWG;BU;1.30;PVC;7x0.16;UL1569 BLUE
9 1 WIRE;22AWG;BN;1.58;PVC;17x0.16;UL1569 PVC BROWN 9 1 WIRE;26AWG;BN;1.30;PVC;7x0.16;UL1569 BROWN
E 10 1 WIRE;22AWG;BK;1.58;PVC;17x0.16;UL1569 BLACK 10 1 WIRE;26AWG;YE;1.30;PVC;7x0.16;UL1569 YELLOW
11 1 WIRE;22AWG;WH;1.58;PVC;17x0.16;UL1569 WHITE 11 1 WIRE;26AWG;GN;1.30;PVC;7x0.16;UL1569 GREEN
12 1 WIRE;26AWG;GY;1.30;PVC;7x0.16;UL1569 GREY
13 1 WIRE;26AWG;PK;1.30;PVC;7x0.16;UL1569 PVC PINK
TABLE 2 - 5P A-CODE 14 1 WIRE;26AWG;RD;1.30;PVC;7x0.16;UL1569 RED
ITEM| QTY [ DESCRIPTION MATERIAL| FINISH/COLOR 15 |1 |WIRE26AWGBK;1.30;PVC,7x0.16,UL1569 BLACK
1 1 SHELL M16/M12MA BRASS BM L20/W17 REC U12 BRASS Ni ::s :]] w:EE,igﬁwg’aTI—]’]13§6PF\’/\§:C;7;()(()01‘?E’3ULIJ_|;]"|556§9 \\i\llzll_':'zg
2 1 NUT M16X1.5 BRASS NI HEX d ’ bt d -
3 1 GASKET OR NBR BK NBR BLACK 18 1 WIRE;26AWG;GY/PK;1.30;PVC;7x0.16;UL1569 GREY/PINK
D 4 1 MIC 5P REC INSERT A-CODE PA SHORT PA BLACK 19 1 WIRE;26AWG;RD/BU;1.30;PVC;7x0.16;UL1569 RED/BLUE
5 5 CONTACT 10 MA Cu ALLOY Au
6 1 LABEL;SELF L.YELLOW(2.25X.75IN) VINYL YELLOW
7 |- |POTTING MATERIAL PUR BEIGE TABLE 5 - 4P D-CODE
8 [1 |WIRE;22AWG;BU;1.58,PVC;17x0.16;,UL1569 BLUE ITEM| QTY[ DESCRIPTION MATERIAL | FINISH/COLOR
9 |1 |WIRE;22AWG;BN;1.58;PVC;17x0.16;UL1569 BROWN 1 11 |SHELL M16/M12MA BRASS BM L20/W17 REC U12 _
10 [1  [WIRE;22AWG;BK;1.58;PVC;17x0.16;UL1569 PVC BLACK > 11 NUT M16X1.5 BRASS NI HEX BRASS Ni
11 |1 [WIRE;22AWG;WH;1.58;PVC;17x0.16;UL1569 WHITE 3 11 |GASKET OR NBR BK NER BLACK
12 |1 | WIRE;20AWG;GN/YE;1.76;PVC;26x0.16;UL1569 GREEN/YELLOW 2 |1 |MIC 4P REC INSERT D-CODE PA SHORT PA BLACK
C 5 4 CONTACT 10 MA Cu ALLOY Au
6 1 LABEL;SELF L.YELLOW(2.25X.75IN) VINYL YELLOW
TABLE 3 - 8P A-CODE 7 - POTTING MATERIAL PUR BEIGE
ITEM[ QTY | DESCRIPTION MATERIAL | FINISH/COLOR 8 |1 |WIRE;22AWG;BU;1.58;PVC;17x0.16;UL1569 BLUE
1 1 [SHELL M16/M12MA BRASS BM L20W17 REC UT2| __ N 9 |1 |WIRE;22AWG;0G;1.58;PVC;17x0.16;UL1569 . ORANGE
2 1 NUT M16X1.5 BRASS NI HEX ! 10 1 WIRE;22AWG;YE;1.58;PVC;17x0.16;UL1569 YELLOW
3 1 GASKET OR NBR BK NBR BLACK 11 1 WIRE;22AWG;WH;1.58;PVC;17x0.16;UL1569 WHITE
4 1 MIC 8P REC INSERT MALE PA SHORT PA BLACK
5 8 CONTACT 8 MA BRASS Au
B 6 1 LABEL;SELF L.YELLOW(2.25X.75IN) VINYL YELLOW
7 - POTTING MATERIAL PUR BEIGE
8 1 WIRE;24AWG;BU;1.43;PVC;11x0.16;UL1569 BLUE
9 1 WIRE;24AWG;BN;1.43;PVC;11x0.16;UL1569 BROWN
10 1 WIRE;24AWG;YE;1.43;PVC;11x0.16;UL1569 YELLOW FUNCTIONAL| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
11 [1  [WIRE;24AWG;GN;1.43;PVC;11x0.16;UL1569 oyC GREEN %fof) | g [TABLE Y PESC: CHANGEDMIN. TEKP. N m OI ex
12 1 WIRE;24AWG;GY;1.43;PVC;11x0.16;UL1569 GREY W 0 Giﬁiﬁé&éibﬁiﬁ‘#é&f
13 1 WIRE;24AWG;PK;1.43;PVC;11x0.16;UL1569 PINK ANGULARTOL ¢ 10° REC U12 XP XC MA PVC XM M16 BM WIR SE
14 |1 | WIRE;24AWG;RD;1.43;PVC;11x0.16;UL1569 RED R VS S v 202301130 PRARD
Al [15_[1  [WIRE:24AWGWH;1.43,PVC;11x0.16,UL 1569 WHITE Seols [Pt R e 20250151 PRODUCT CUSTOMER DRAWING
TPLACE  |F 09 IIZ)NRI\-;VIQ'L ‘FEEL?QA?IINOC'\IIN 2021/09/08 o IR NS e
oPLACES |+ 05 |APPR: RSILLER 2022/07/14 1204040046 PSD| 000 | A2
ORAFT WHERE APPLIGRGLE | THIFD ANGLE PROECTION | DRAWNG |~ SERES — [WATERACNOVBER —CUSTONER SEETNOWEER
DOCUMENT STATUS| P1 | RELEASE DATE | 2023/01/31  08:21:41 | A @ 1 |A3-SIZE | 120404 | SEE PART LIST | GENERAL MARKET | 3 OF 3
9 8 7 5 4 3 2 1




